TS EE/\RERLHE (B2R)

EHES  18-17--
ERBER2E AMNBAEES
EHE - 8- RA| RBRABE - ZEERE
BR \RKE

EEEH 0E

FHEHES HBHEE

FHER #BIZEXEHE
FHEB HBEYEE
Bofs| REHRHE




BEANRE SHSEE/\ KB RERE (F2R)

% g - AKTiE B H =2 i & 8 wm =

EZHEE 5, 306, 404
BEXH 5, 306, 404
TILFE—LBIR 5, 306, 404
TILFE—LBIR 5,094, 276
B 417, 366
1 B E% R 1.00 321, 887 321, 887

=
2 BMER QEELY) 1.00 95, 479 95,479

=
KiEH=E 2,910, 689
SRETR 1.00 652,170 652,170

=
4 TILFE—LBIR 1.80 1,254,733 2,258,519

km2

[ 1,766, 221
5 SREEIER 1.00 1,766, 221 1,766, 221

=
EERE 170, 128
[ 130, 000
6 EERER 1.00 130, 000 130, 000

=
W& 40,128
7 & FRETEH LN 1.00 40,128 40,128

=
HiEEE 42,000




BERRE

THSEE/N\RBRZRAE (F2R)

Z 0t

42,000

8 HifiEEE

E-AYUITHRE

1.00

42,000

42,000




THSEE/N\RBRZRAE (F2R)

% L] Hg - BIRHE BfL g i # wm oz
EZAEE 5,306, 404
HEE 5,306,404 x 70.8% — 3,338 3,753,596
HEEEE 5,306,404 + 3,753,596 9, 060, 000
PE 3T 9, 060, 000
HERSHNE 9,060,000 x 10.00% 906, 000
HEXBE 9,060, 000 + 906, 000 9,966, 000




Rifiz -/ \v7r—o

BHSEE/\KEZE

I8 (%2KR)

&5 1
2 BEEERE =1
£ 7 R - BIRTE BARL #H = B Of | W E B &
BlEFEHED
A 2.00 51, 000. 00 102, 000
B S HER
A 3.00 44,000. 00 132, 000
B = H AR
A 2.00 34, 300. 00 68, 600
BIEBF
A 0.50 32, 200. 00 16, 100
AR L NOY
% 1.00 318, 700. 00 3,187
= 5 1YE%HeH - 1.00K 321, 887. 00 321, 887
&5 :2
B BMERQEESZY) =1
£ 7 R - BIRTiE BAGL #H = B Of | W E B =
BIEHEE
A 2.00 217,000. 00 54,000
Sy 2tiE
B 1.50 217,023. 00 40,534/4. 70H / 8H
AR L NOY
% 1.00 94, 534. 00 945
= 5 1YE%HeH - 1.00K 95, 479. 00 95,479




RiEFR-FET/\vr—2 SMSEE/\RBRERE (FE2R)
FS:3
B WET R b EED)
& 7 B - ok B 2 B # # E i =
REE SR AV
=] 1.00 3,270.00 3,270/2.00H / 8H
I8 E (R
A 1.00 51, 000. 00 51, 000
I8 FR R
A 1.50 44, 000. 00 66, 000
RS HEH
A 1.50 34, 300. 00 51, 450
MEHTF
A 1.00 32, 200. 00 32,200
A=/ FRP D 70PSE!
=] 1.00 71, 968. 00 71,968 8H
GNSSIAIfT S & DGNSS
=] 1.00 25,575. 00 25,575
TILF E—LBEAIRER 36~455kHz
=] 1.00 338, 250. 00 338, 250
HAH 210k
% 1.00 645, 713. 00 6, 457
a & 1E%X8ED - 1. 00K 652, 170. 00 652, 170




RiEFR-FET/\vr—2 SMSEE/\RBRERE (FE2R)
&HE 4
£% : TILFE—LAIR 1B4Y (0.48km2)
& 7 B - ok B B B B # # E i =
TEE S4 kY 2L
=] 1.00 3,270.00 3,270/2.00H / 8H
A=/ FRP D 70PSE!
=] 1.00 71, 968. 00 71,968 8H
I8 E (R
A 1.00 51, 000. 00 51, 000
I F R
A 1.00 44, 000. 00 44, 000
I 2 FR B
A 1.00 34, 300. 00 34, 300
MEBHTF
A 0.50 32, 200. 00 16, 100
GNSSIAIfT S & DGNSS
=] 1.00 25,575. 00 25,575
TILF E—LEERIRE 36~455kHz
=] 1.00 338, 250. 00 338, 250
HAH 210k
% 2.00 590, 463. 00 11, 809
a & E%8H : 0.48km2 1,254, 733. 00 602, 272
FS:5
B EEER EED)
& # B - ok B % B B #  E i =
I8 E (R
A 5.10 51, 000. 00 260, 100
I F R
A 19.20 44, 000. 00 844, 800
I8 FR B
A 17.30 34, 300. 00 593, 390
HAH 210k
% 4.00 1,698, 290. 00 67, 931
a & 1E%X8ED - 1. 00K 1,766, 221. 00 1,766, 221




REKR-FEL/\vr—2 SHGERE/\BEEHE (FE2R)
ES:6
LW EBRER B
2 o 1R - otk ik Bif B B ff % 1 " =
£BHERE
= 1.00 130, 000. 00 130, 000
& it YEZERED 1. 00 130, 000. 00 130, 000
Bs:1
B IRE GREHEBLN) B
2 # 1R - otk <tk Bif B B ff % 1 " =
XBE HEE GER)
= 4.00 1,672.00 6, 688
XBE HEE GER)
= 20.00 1,672.00 33, 440
& H YEZERED 1. 00 40, 128. 00 40, 128
E5:8
2 o 1R - otk ik Bif B B ff % 1 " =
B EEE E-RYLTRE
= 1.00 42, 000. 00 42,000
& it YEZERED 1. 00K 42, 000. 00 42,000




